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EENRLABTRBOVAEER, AAESW, AT REBESHEFTER.
LI HREERETS
D EVF T, R AT 6 2 ) Wk 35 00, DA 3 3t & IR 0T .
FEYNE — YA ) P A B 1] R 53 159 152 45 R A 2 B 1 » S0 AT LA 00 o T 9 1) Ry o
o E, AR RN RMEEAS AL ERASEN BEEE.
O EFEESL  WRER CBAMEENE, VIBZERANE.
5140, ZE AT Section A (conversation) i, 55— HEEEL - HERBRE AN
T, 8 A IEEE R RS X S E A BHR & 6 RGBS XX A A B XHE
B, —BEF. 2SN BRHRE-NHEETHNESGL2ER . BRI ABEE
TAHIEEMIRIENR G L. EM, TEUF Section A Bf, B4R 51 B 078 — NS A PFHEH
AR P RCRIA, RS HITHEREM .
b, W.Ican’t find the key to my car. I need to go for a drive.
M. I’ll look for it later. Right now I want you to fix the shelf before I paint it.
Q : What should they do first?

HEHEI
A) Look for the key. C) Fix the shelf.
B) Repair the car. D) Paint the shelf.
BEEHO,

(3) 1 BPR4E but,although, though X KR RHEH ML BB HEETE . EiXE
AR BB EHIEANSE . RRERRM . §EXREE . #F TRNFEIENE S
BHER. BEXLEHRZE.
Gt . W.Ireally can’t stand the way Mr. David control the conversation all the time. If he
is going to be in the Christmas party, I just wouldn’t come.
M:I’m sorry you feel that way. But my mother insists that he come.
Q:Why is David being invited to the party?
prit = '
A) To make the woman angry.
B) To please the man’s mother.
C) David is the man’s good friend.
D) David is good at carrying on conversations.
EHEA B,
(WOkiatE ., H R R EABFTREXERAFHEMERETARM ERRET. |
HIEH G R B R BT RE A REBERAANETRFEITH.
—_ 3 R



il it W:Théy wanted you to pay $ 200 for such an old car. Oh,my God!
M:Yes. But finally I bought it at a 25% discount.
Q :How much did the man pay for the car?
]‘@%Im:
A) $150 B) §145 C) $160 D) §140
BEEH A,

(5) R iz A BN F B, U R AE VT 42 SCHY B 45 (I Section B)

— RSB FERBM , R8N T M — . ZANE (X R E A SR A
KR 2R, AT ES AL T ERE . RSP . AERBEERTH
HRHAY .

(O)NNERITAZRE ST, AP KL i B, B 42 8. ,

et RS, MUBEER, N ZA B RINGISIZT B, AW ARAREFEFRE
CDHENFS, EAXREFIZAMMCET X RE, LHERRIE. M. ER
FHHFICT R, XA UG KISZr B, s EZ, R B E R EHEE.

(DEBRFOEEMESHAHINEST  HRITFRE,

XEFNRETEFRASERFNETERAR. Bm“HAIE can HEEER
can’t , B E F & Ckant], M EEH F R Ckent), FHilt, ot LM EBMEE SR HINGLUPE
EREFRR. BN ARENEEFPEEAR, T HBETX.

EERMETHL RTELTNET LERZI AFETNERMEHENE
5. W

HiF EYE EE

adult /' adalt/ /a8 dalt/
laboratory /1a"borratri/ /'leebara,tori/
necessarily /' nesasarili/ /nesa’serili/
ordinarily /' o:dinarali/ /iordn’ nerali/
OBBRNER. 1.

BiE HE¥F 00 REE
factory /' faektri/ /' faektori/
secretary /'sekratri/ /' sekrateri/
dictionary /'dikfanri/ /'dik Jon,eri/

2. X HREFRABF HIERR

(1) 3+ & (Conversations)

) E XA (Passages)

(YT B % (Spot Dictation)

W EAAWSE (Compound Dictation)

O“Br HIH " (Spot Dictation) EHE W HBM " MA 2 5. RELHEE B 1204
WEAERWEX . KHH 10 M EAEK. BINTHREREA—MTF,.REEFH .
EXUREFFEHERNIEMEERPIES R, BB XBE. RESW,. S0
HE2XHE; B REEHERET,. ERELBRINATEFROFH—HMEAN
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BVHEESXAE. BTEBEN. B0 ESIERZEREETLE A EARRE
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—HREET e ERHTHX . BEXWE AR AR 15 248,

“‘BaAWE"ERENGFENRNEN HERIGEECRAMBEREES.
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R ERET RFRBHFARNAEGEE, KPMNEHREIT A FFIERN 120
H/aNHERNESINRBEZERELEERN 15 PRERETENREK.

Unit One

Listening Comprehension

Section A Conversations

Directions: In this section you will hear 10 short conversations. At the end of each
conversation, a question will be asked about what was said. Each conversation and
question will be spoken only once. After each question there ';wll be a pause.
During the pause, you must read the four suggested answers marked A),B),C)
and D), and decide which is the best answer. Then mark the corvesponding letter
on the Answer Sheet with a single line through the centre.

Example; You will hear;
You will read: A) At the office.
B) In the waiting room.
C) At the airport.
D) In a restaurant.
From the conversation we know that the two were talking about some work they had to
Sfinish in the evening. T'his is most likely to have taken place at the of fice. Therefore,A) “At
the of fice” is the best answer. You should choose [ A on the Answer Sheet and mark it with a

single line through the centre. »
Sample Answer  [A-] (B] [C] [D]

1. A) The man sold two dresses on the way home.

B) The woman purchased all her clothes on her way home.



C) The woman bought no dresses on the way home.

D) The woman can do the sewing herself.

2. A) It will probably be cold. C) It will probably be foggy.
B) It will probably be fine. D) It will probably rain.
3. A) By bus. B) By ship. C) By plane. D) By train.
4. A) In a restaurant. C) In & hotel.
B) In a hospital. D) At home.
5.A) 8. B) 12. C) 26. D) 16.

6. A) The woman was caught in the thunderstorm.
B) The roof of the woman’s house needs repairing.
C) The man is an employee of a roofing company.
D) The roof of the man’s house is leaking.
7. A) The woman was very conscientious.
B) The woman thinks the mayor played his part realistically.
C) The woman thinks the mayor was not dramatic enough.

D) The woman thinks the mayor exaggerated his part.

8. A) Play the accordion. C) Practice singing.
B) Acsompany her home. D) Teach her to play.
9. A) Apply for another high rise apartment. C) Change apartments.
B) Search for a cheaper place to live. D) Move to a remote country town.
10. A) Two colleagues. . C) A parent and a child.
B) Parents. D) A teacher and a student.

Section B Passages

Directions : I'n this section you will hear 3 short passages. At the end of each passage,you will
hear some questions. Both the passage and the questions will be spoken only once.
After you hear a questionyou must choose the best answer from the four choices
maked A),B),C) and D). Then mark the corresponding letter on the Answer
Sheet with a single line through the centre.

Passage One
Questions 11 to 13 are based on the passage you have just heard.
11. A) He was a great sailor.
B) He was an English prince.
C) He was a member of the royal family of Portugal.
D) He was a navigator from Spain.
12. A) Members of the royal family. C) Astronomers,sailors and map makers.
B) Shipbuilders and merchants. ) D) The prince himself.
13. A) He made oceanic exploration possible.
— 6 J—



B) He improved the compass.
C) He invented the clipper ship.
D) He was the first to found a school for mariners.

Passage Two
Questions 14 to 16 are based on the passage you have just heard.
14. A) Breakfast. B) Lunch. C) Dinner. D) Any time,.
15. A) Billions. B) Millions, C) Tens of thousands. D) Thousands.
16. A) The restaurants have few tables and chairs.

B) The restaurants are very small.

C) The restaurants serve hamburgers through a window.

D) The restaurants charge more to eat inside.

Passage Three
Questions 17 to 20 are based on the passage you have just heard.
17. A) Computers are very fast.
B) These computers contain all the addresses in the city.
C) Computers can be used by doctors.
D) Computers help firemen in many ways.
18. A) Because they live at 350,000 different addresses.
B) So doctors can treat injured fire fighters quickly.
C) Because they need medical examinations.
D) So they can be removed from burning buildings.
19. A) By helping them prepare for possible dangers.
B) By answering calls.
C) By sending information to City Hall.
D) By putting out fires. .
20. A) Kansas City. B) Maryland. C) Kandahar. C) New York City.

Unit Two

Listening Comprehension

Section A Conversations
Directions : (Omitted)
1. A) The man’s father did not go.
B) The man thought that the game was excellent.
C) The man and his father thought that the game was unsatisfactory.

D) The man thought that the game was excellent, but his father thought that it was

__7__



unsatisfactory.
. A) A speech on television. C) A meeting with the President.
B) An article in the newspaper. D) A telephone conversation.
C) At a tourist bureau.
D) At a hotel.

C) Getting water.

. A) In a department store.
B) In a bank.
. A) The city.

5. A) It is no fun under any circumstances.

B) The country. C) At the lake.
B) Tt is fine when the pay and the condition are good.

C) It is always exciting and rewarding.

. D) There is probably no “perfect” job,so one must keep looking.

. A) The woman shouldn’t be so anxious.

B) He’s already an hour late.

¢
C) The woman shouldn’t wait to be interviewed.

D) He’s too nervous to calm down.
7. A) Forget his birthday.

B) Give him a gift for his birthday.
8. A) A supermarket.

B) A department store.
9. A) He was late.

B) He is hoping for a promotion.
10. A) Make-up.

Section B Passages
Directions: (Omitted)
Passage One

B) Modern art.

C) Wait too late,

D) Pass the time.

C) A drugstore.

D) A car repair store.

C) He is a new employee.

D) The boss usually leaves messages for him,

C) Queer people. D) Green faces.

Questions 11 to 13 are based on the passage you have just heard.

11. A) The advantages of refrigeration.
B) Cooking food in the summer.
12. A) Cookies. BY Chicken.
13. A) Eat it immediatly.
B) Throw it away.

Passage Two

C) Food in the summer.

D) Food spoilage in the summer.
C) Eggs.

C) Try a little.
D) Cook it thoroughly.

D) Ice cream.

Questions 14 to 16 are based on the passage you have just heard.

14. A) He and his family.
B) John Brown.
15. A) Since he was born.
B )Since his wife died.
—_ 8 [

C) Nobody ; he sleeps outside.

D) A group of friends.

C) Almost half his life.

D) Since he graduated from college.



16. A) His environment. C) The ancient world.

B) Aeroplanes and cars. . D) Business.

Passage Three
Questions 17 to 20 are based on the passage you have just heard.
17. A) We must realize that television is the most powerful force in the education of children
today.
B) Unfortunately children act in TV shows cannot be educated because their work does
not permit them to attend school.
C) Special arrangements are made for giving a good education to children during the
weeks of their employment as TV actors.
D) Most teachers enjoy giving lessons to TV children because they are usually good
pupils and often become famous.
18. A) In California. B) In Mississippi. C) In New York. D) In Washington.
19. A) Some of them are paid twice as much as the teachers in regular schools.
B) Most of them enjoy their work.
C) Many of them hope to become TV actors or actresses.
D) Most of them prefer to hold their classes in interesting places.
20. A) It says that they must be taught from June to September.
B) It says that they must be taught from September to the end of June.
C) It says that they must be taught from September to the middle of June.
D) It says that they must be taught from September to the beginning of June.

Unit Three

Listening Comprehension

Section A Conversations
Directions ; (Omitted)

1. A) An operation. B) A meeting. C) A game D) A dinner.
2. A) Paris. B) London. C) New York. D) Rome,
3. A) Windy. B) Wet. C) Fine. D) Cloudy.

4. A) Go straight ahead.
B) Go down the road and turn left.
C) Take the first turning on her right.
D) Go down Oxford Street,then turn right at the corner.

5. A) At a hotel C) At a restaurant.
B) At a bookstore. D) At a gas station.



6. A) Leave immediately. C) Dine with her.

B) Stay longer. D) Prepare the dinner.
7. A) The headings for today’s reading assignment.

B) The chance to make the headlines.

C) Her reading ability.

D) The daily newspaper.

8.A) 7:55. B) 8.05. C) 7.25. D) 7:05.
9. A) It isn’ t strong enough. C) It’s too milky.
B) It has too much sugar in it. D) 1It’s just right.

10. A) The man found the exam easy.
B) The exam consisted of only one page.
C) The exam was not easy for the man.

D) The man completed the exam within one hour.

Section B Passages

Directions ;: (Omitted)

Passage One

Questions 11 to 13 are based on the passage you have just heard.

11. A) 124 o0 51. 1 degress Fahrenheit. C) 25 to 50. 1 degrees Fahrenheit.
B) 50 to 60 degrees Fahrenheit. D) 50 to 15 degrees Fahrenheit.

12. A) In 1968. B) In 1938. C) In 1836. D) In 1966.

13. A) Fishery. B) Tourism. C) Petroleum. D) Agriculture.

Passage Two
Questions 14 to 16 are based on the passage you have just heard.
14. A) Because computers are fast,honest and make no mistakes.
B) Becuase computers cannot be used to steal money.
C) Because computers are not expensive.
D) Because computers have no conscience.
15. A) Computers never have a bad day.
B) Computers do not often provide evidence or witnesses.
C) Computers can replace paper work.
D) Computers are safe from human temptation.
16. A) A man broke in and got away with a large sum of 1. 5 million dollars,
B) One clerk gambled away 1. 5 million dollars.
C) One employee was caught by the police because he robbed a customer of his money.

D) One clerk in the bank stole a lot of money by means of computers.
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